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3. FHEAER
BERLE NT U ADTF = v 7 (fRilasR)
X J7 1) Y J7 1)
fwoLae i {0 FFAT
10 0. 035 OK 0. 007 OK
2 [ 0. 034 OK 0.028 oK
3 - - — —
BEILELROBEET = v 7 (i15E) MRERROBERET = v 7 (MiE)
X 71 Y J7 X J7 1M Y J5 1t
BERERR | FHE | BERTERE | B BERFEREE | G | BERFEE | FHE
11 1.799 OK 1. 989 OK || 1B 1.012 OK 1.118 OK
2 [ 2.375 OK 2.276 OK || 2@ 1.177 OK 1.128 OK
3 — — — — 3 — — — —
BEILEEORERT = v 7 (i)
X 71 Y Ji )
BERSEER | BN | BERFEEE | B
1 B 1.683 OK 1.034 OK
2 [ 2. 368 OK 1. 052 oK
3 % - - - -
FEER - AR S E O T = v 7
DS 2 M DA%
10 OK
2 [ OK
3 —
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i —FETOEE
1B JEEE
20 JEE
AR OE X RV RAR
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i — Xk
BNy 40 cm
MR RIS Z 1.00
Mg FEAERUE Vo 34 m/s
RAT A A BIRIE T 20.00 cm
INEER T 2 10.00 cm
R P & IR HE S & 52.5 cm
LB B 300.0 cm
205 P 290.0 cm
ik 77 - YEf ) B AR
R R B BefEs |
Fr (EME/BIEY) | FE¥H
2.0
1 ifif 77 5E FHUN (45X90) @2.5/1.5) DI
2 fiff 5 A (45X 904 7 L) -0 &
(4.0,74.0)
PERER /R D H AR
MRSk (BRI - $ERH L) k3
i 5 —
1.2 fEH&Y
FESA - REMIEE 2 I 200
& Lt T FAENE
&
1 | cp 0.96
2 | cp 0.96
3 | Hpe 1.89
4 | 2-7-15KN 2.83
5 | 2-F-20KN 3.78
6 | HDI5 2.83
7 | HD20 3.78
8 | HD25 4.72




1.3 IEERE
(1) FEEEE

B B AIE | AT
Figzs AL N e 5 . .
= 5] 7 B4 R (N /i) (N/m) | (N/ni)
R HiAR (BEHE)
1 (AR - 5/10) /AR 200. 00 450. 00 503. 12
PR 250. 00
— HBCR ()
2 (AR« 5/10) /AR 200. 00 450. 00 503. 12
PR 250. 00
3 G SR (D 250. 00 279.51
(AL - 5/10) IR | 250.00
2 Pl N CED)
4 ( @Eg&'i /10) Jo ‘ 250,00 250. 00 279.51
77—V 7 GEE)
5 1 PER 7ua—1 7 (@) 250. 00 450. 00 450. 00
ARIERIE Y (EAEAAR) 200. 00
Tu—Y T GER)
6 2 FEIR 7ua—1 7 (@) 250. 00 450. 00 450. 00
ARIERIT Y EREALAR) 200. 00
. BAAKAE b (B UECEAR)
7 2 BT = : 1000.00 | 1000. 00
e BT+ RF 2 ‘ 1000. 00
. — ’wﬂ?mw“{z. 5‘\mm (*%Z%{L%) 950,00 950,00
TyagR - 12, 5mm (BEHEALAR) ‘ 250. 00
9 2 BRI @jwhm‘\z' imm (%Mlﬁ? 250.00 |  250.00
\ Tyayk —=h 12, 5o (BEHEALAR) ‘ 250. 00
B5 K47 400" (EEHE(LERR)
10 1 PE41EE *jﬁwﬂ — 19090 500. 00 500. 00
BT v (BEEATER) 200. 00
P B G HEAAR) 150. 00
B K347 400" (AR
11 2 [EohBE 7&%%%%{ - — 19090 500. 00 500. 00
BT v (FEEUE(TER) 200. 00
PEBAE B (BEYEEEAR) 150. 00
B AT 40" (EEHEALRR)
12 3 PEShBE %ﬁwﬂ — s 500. 00 500. 00
BT 10" (BEEATER) 200. 00
WNEBAE B (EEE(LAR) 150. 00
Tyagk =} 12, 5om  (BEUEAAR)
13 1 M PEE ESELE 150. 00 500. 00 500. 00
Tyayk =} 12, 5ot (EEYECLAR) 350. 00
tyaght =8 12, 5mm (FEUE(LRE)
14 2 BEPNEE ES LT 150. 00 500. 00 500. 00
yayR’ =} 12, 5o (EEYELLAR) 350. 00
15 | 2 MEBINFEH E JEW\E%MI% 300. 00 300. 00
BEVI R 300. 00
(2) FEHfTE
& AL RH e A Hh7E
— 1 PR 1800. 00 N nf 1300.00 N,/ ni 600.00 N /i
— 2 BEIR 1800. 00 N nf 1300.00 N/ ni 600.00 N /ni




(3) HEMHE

FHER S
{

40cm
1B (AR : 5,710)

LRGN

20.0 N/m2-cm

EAR AR K DR A Z 2 720 2D, wb=1.0000
koT FEEHME 40X 20.0X gp= 800.0 N/m?
- 2F% (A : 5,710)
AR DB X DKW E B 2 720 2D, wb=1.0000
koT FEEHME 40X 20.0X gp= 800.0 N/m?

(4) BXGEHEHE

[ 7 fif B FHRWE P FHEWE S
e frighA G (N_/nf) (N_/nf)
(N//nf) it A HiER YA EMH =
1| 1 BEER (A : 5/10) 503. 12 0. 00 0. 00 0. 00 800. 00 0. 00 0. 00
2 | 2 BEEMR (WL : 5/10) 503. 12 0. 00 0. 00 0. 00 800. 00 0. 00 0. 00
3 | 1 BEEFSE (ARL - 5/10) 279.51 0. 00 0. 00 0. 00 800. 00 0. 00 0. 00
4 | 2 PSS (AR - 5/10) 279. 51 0. 00 0. 00 0. 00 800. 00 0. 00 0. 00
5 | 1 BEE 450. 00 1800. 00 1300. 00 600. 00 0. 00 0. 00 0. 00
6 | 2 BEIE 450. 00 1800. 00 1300. 00 600. 00 0. 00 0. 00 0. 00
7| 2 L a=— 1000. 00 1800. 00 1300. 00 600. 00 800. 00 0. 00 0. 00
8 | 1 BERH 250. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
9 | 2 BERH 250. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
10 | 1 Pgshee 500. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
11 | 2 P&SMEE 500. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
12 | 3 [EsbEE 500. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
13 | 1 PEPNEE 500. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
14 | 2 PEpNEE 500. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
15 | 2 BEBINEE T & 300. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
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BEfER RN | JEIRF [A - B|X R
5 55 J51A) A BEL B : BE2 MIEME |72 Z0 R
RemE | o | REmE | o S B ((a-B[ +8x8)

S xo o i ) X — — 2. 000 -3t 0. 500 0,50 2. 000
Y — — 2. 000 i 0. 500 2. 000

W - 4 2BE FE 2 Y 2. 000 T — -0. 500 0. 50 0. 750
W - 8 2R FE 2 Y — 2. 000 T | -0.500 0. 50 0. 750
A - %2 2B 2 X 2. 000 T — — -0. 500 0. 50 0. 750
5 - 9 2R FE 2 X 2. 000 T — — -0. 500 0. 50 0. 750
*E - 4 2R HE 2 X — — 2. 000 -3t 0. 500 0. 50 1. 250
-9 2Bk A 2 X — — 2.000 T | -0.500 0. 50 0. 750
F - 3 2R HE 2 Y — — 2. 000 T | -0.500 0. 50 0. 750
T N ) X 2. 000 T — — -0. 500 0,50 0. 750
Y 2. 000 ¥ — — 0. 500 1. 250

F -7 20 HE 2 X — — 2. 000 b 0. 500 0. 50 1. 250
3 - 8 2B A 2 Y — — 2.000 T | -0.500 0. 50 0. 750
o o i ) X — — 2. 000 -3 0. 500 0,50 1. 250
Y — — 2. 000 i 0. 500 1. 250

~ -3 2B R 2 Y 2. 000 T — — -0. 500 0. 50 0. 750
~ - 4 2R FE 2 Y — — 2. 000 -3t 0. 500 0. 50 1. 250
~-5 2B 2 Y 2. 000 T — — -0. 500 0. 50 0. 750
~-7 2R FE 2 X 2. 000 T — — -0. 500 0. 50 0. 750
L -1 2R HE 2 X 2. 000 T — — -0. 500 0. 50 0. 750
H -4 2B 2 X — — 2.000 T | -0.500 0. 50 0. 750
*H - 7 2B FE 2 X — — 2. 000 -3t 0. 500 0. 50 1. 250
¥ — 4 2B 2 X 2. 000 3 — — 0. 500 0. 50 1. 250
¥y - 7 2R HE 2 X 2. 000 T — — -0. 500 0. 50 0. 750
5 -1 2R HE 2 X — — 2. 000 T | -0.500 0. 50 0. 750
% - 3 2B HE 2 Y — — 2.000 s 0. 500 0. 50 1. 250
5 -4 2R FE 2 Y 2. 000 T — -0. 500 0. 50 0. 750
-7 2B 2 X — — 2. 000 T | -0.500 0. 50 0. 750
-2 2B 2 Y 2. 000 T — -0. 500 0. 50 0. 750
b-3 2R HE 2 Y — — 2. 000 T | -0.500 0. 50 0. 750
b -4 2B 2 Y 2. 000 3 — — 0. 500 0. 50 1. 250
b-6 2R FE 2 Y — — 2. 000 T | -0.500 0. 50 0. 750
! 1 £ 1 Y — — 4.000 | 729X 0. 000 0. 80 3. 200
Wo- 2 1 A 1 Y 4.000 | 7= — — 0. 000 0. 50 2. 000
W 3 1F FE 1 Y — — 2. 000 T#E | -0.500 0. 50 0. 750
W - 4 1 A 1 Y 2. 000 3 — — 0. 500 0. 50 1. 250
Wwo- 7 1P £ 1 Y — — 4.000 | 729X 0. 000 0. 50 2. 000
X — — 2. 000 = 0. 500 2. 000

W- 9 1-2/% @ LR ’ Y 2.000 s — — 0. 500 080 2.000
1 Y 4.000 | 7= — — 0. 000 0. 80 3. 200

*¥ - 3 1fE 1 Y — — 4.000 | =9 % 0. 000 0.50 2. 000
*E - 4 1fE 1 Y 4.000 | 7= — — 0. 000 0. 50 2. 000
2 - 9 1P £ 1 X — — 4.000 | 729X 0. 000 0. 50 2. 000
F -7 1 A 1 X — — 4.000 | /-9 0. 000 0. 50 2. 000
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L -1 I R 1 X 4.000 | /-4 — — 0. 000 0.50 2.000
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- 4 1P A 1 Y 4.000 | =% — — 0. 000 0. 50 2. 000
W - 1B E 1 Y — — 4.000 | 7= 0. 000 0.50 2.000
‘ X 4.000 | 7= — — 0. 000 2.000
ho- 7 1 1 0.50
Y 4.000 | =% — — 0. 000 2. 000
5 -1 1 E 1 X — — 4.000 | 7= & 0. 000 0. 50 2. 000
5 - 3 1 E 1 Y — — 2. 000 T i -0. 500 0. 50 0. 750
5 - 4 1P A 1 Y 2. 000 g — — 0. 500 0. 50 1. 250
- 7 1 FE 1 X — 4.000 | 7= & 0. 000 0. 50 2. 000
X 2.000 i — — 0. 500 2.000
2 0. 80
o Y — — 2.000 i 0. 500 2.000
b-1 1-2F% 38 LI
X 4.000 | 7= — — 0. 000 3. 200
1 0. 80
Y — — 4.000 | 729X 0. 000 3. 200
b -2 1 1 Y 4,000 | 7=9x — — 0. 000 0. 50 2.000
b -3 1 1 Y — — 2. 000 ] 0. 500 0. 50 1. 250
b -4 1P A 1 Y 2. 000 T i — — -0. 500 0. 50 0. 750
b -6 1 1 Y — — 4.000 | 729 0. 000 0. 50 2. 000
X 2.000 i — — 0. 500 2.000
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¥ B =0.80(HiKE) F7/21% 0.50(FDfh) ... 1B

0. 80 ({HFH) FE7=i% 0.50(ZDfh) ...

2




R FRIEL A
T [ J7 1) A-B/xB8 | Sla-Blxp |FAZIE| N
paes s[A-Bxg | KA L

R . ) X |- — 0. 000 2.000 2.000 0.0 1. 600
Y | — — 0. 000 2. 000 2. 000 1. 600
W o- 4 20 2 | Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
W - 8 oW FE 2 Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
A = %2 20 FE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
A -9 20 FE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
X - 4 20 HE 2 X | — — 0. 000 1. 250 1. 250 0. 60 0. 650
Iz - 20 FE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
e 20 R 2 | Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
T . ) X |- — 0. 000 0. 750 0. 750 060 0. 150
Y | — — 0. 000 1. 250 1. 250 0. 650
E 20 K 2 | X | — — 0. 000 1. 250 1. 250 0. 60 0. 650
E 20 FE 2| Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
S . ) X |- — 0. 000 1. 250 1. 250 0,60 0. 650
Y | — — 0. 000 1. 250 1. 250 0. 650
~ - 20 FE 2 | Y |— — 0. 000 0. 750 0. 750 0. 60 0. 150
~ - 20 FE 21 Y | — — 0. 000 1. 250 1. 250 0. 60 0. 650
~ - 20 FE 2 | Y |— — 0. 000 0. 750 0. 750 0. 60 0. 150
~ - 20 FE 2 | X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
L - 20 HE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
H - 4 20 FE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
*H - 7 20 HE 2 X | — — 0. 000 1. 250 1. 250 0. 60 0. 650
¥ - 4 20 HE 2 X | — — 0. 000 1. 250 1. 250 0. 60 0. 650
*) - 7 20 FE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
% - 20 HE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
5 -3 20 FE 2| Y | — — 0. 000 1. 250 1. 250 0. 60 0. 650
% - 2f HE 2 Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
& - 20 HE 2 X | — — 0. 000 0. 750 0. 750 0. 60 0. 150
o - 20 FE 2 | Y |— — 0. 000 0. 750 0. 750 0. 60 0. 150
o - 20 HE 2 Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
o - 20 2 | Y |— — 0. 000 1. 250 1. 250 0. 60 0. 650
-6 20 2| Y | — — 0. 000 0. 750 0. 750 0. 60 0. 150
Uy — 1Mk 1| Y | — — 0. 000 3. 200 3. 200 0. 40 2. 800
Uy - 1 1| Y |[wvw-=x2 2. 000 2. 000 2. 000 4. 000 0. 60 3. 400
VY - L FE 1 Y |- %2 2. 000 2. 000 0. 750 2. 750 1.60 1. 150
Uy — 1P R 1| Y |WwW-4 0. 750 0. 750 1. 250 2. 000 1. 60 0. 400
Uy - 1 1| Y |WwW-38 0. 750 0. 750 2. 000 2. 750 1. 60 1. 150
X |- — 0. 000 2.000 2.000 1. 600

2 0. 40
Y | — — 0. 000 2.000 2. 000 1. 600
Ww-9 1-2R% 5@ LA X | — 2. 000 2. 000 0. 000 2. 000 1. 000

1 — 2.000 1.00
Y 2. 000 3.200 5. 200 4. 200

U 0. 750

5 -9 1Rk 1| X | A 0. 750 0. 750 0. 000 0. 750 1. 60 0. 000
*E - 3 1P+ 1| Y | — — 0. 000 2. 000 2. 000 1. 60 0. 400
X | *% - 4 1. 250 1. 250 0. 000 1. 250 0. 000

X - 4 LB A 1 1.60
Y | — — 0. 000 2. 000 2. 000 0. 400
Iz - 1 1% 1| X [1F- 4 0. 750 0. 750 0. 000 0. 750 1. 60 0. 000
iz -9 1P A 1 X |[iZ-9 0. 750 0. 750 2. 000 2. 750 1.60 1.150
7 B . X & -7 1. 250 1. 250 2.000 3. 250 6o 1. 650
Y |iE-8 0. 750 0. 750 0. 000 0. 750 0. 000
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7\ yi=—
ke fuﬁﬁ‘i
5 3 Jim A-BIxB | la-Blxg |[HXE| NI
5 SIA-B/xpg | A L
X |- — 0. 000 2.000 2.000 010 1. 600
Y | — — 0. 000 2.000 2.000 ) 1. 600
F -9 1-2F% 3 LAY X |- 2. 000 2. 000 3. 200 5. 200 4. 200
— 2.000 1.00
Y 2.000 0. 000 2.000 1. 000
1F - 8 0. 750
‘ X |~-1 1. 250 1. 250 2.000 3.250 1. 650
~-1 1B 1.60
Y | ~-1 1. 250 1. 250 0. 750 2.000 0. 400
X |- — 0. 000 2.000 2.000 0. 400
~-3 1BE ~ -3 0. 750 1.60
Y 1. 250 1. 250 2.500 0. 900
~ - 4 1. 250
~- 7 1P A X |~-7 0. 750 0. 750 2. 000 2.750 1. 60 1. 150
L -1 1B 1% X | & -1 0. 750 0. 750 2. 000 2.750 1. 60 1. 150
H - 3 1 FE X | — — 0. 000 2. 000 2. 000 1. 60 0. 400
n - 3 1B X | — — 0. 000 0. 750 0. 750 1. 60 0. 000
. 5 — 1. 250
n -7 1B A X 1. 250 2. 000 3. 250 1. 60 1. 650
*0) - 0. 750
. X |- — 0. 000 1. 250 1. 250 0. 000
mo- 3 1M 1. 60
Y | — — 0. 000 2.000 2. 000 0. 400
. X |*y - 4 1. 250 1. 250 0. 000 1. 250 0. 000
- 4 1M 1. 60
Y | — — 0. 000 2.000 2.000 0. 400
- 6 1 FE Y | — — 0. 000 2. 000 2. 000 1. 60 0. 400
‘ X |*xp - 7 0. 750 0. 750 2. 000 2.750 1. 150
mo- 7 1M 1. 60
Y | — — 0. 000 2.000 2.000 0. 400
5 -1 1P A X |5 -1 0. 750 0. 750 2. 000 2. 750 1. 60 1. 150
5 -3 1B Y |5 -3 1. 250 1. 250 0. 750 2.000 1. 60 0. 400
5 - 4 1P A Y |5 -4 0. 750 0. 750 1. 250 2.000 1. 60 0. 400
- 7 1B X | &% -7 0. 750 0. 750 2. 000 2. 750 1. 60 1.150
X — 0. 000 2.000 2.000 1. 600
0. 40
o Y — 0. 000 2.000 2.000 1. 600
-1 1-2% @ LAE
X 2.000 2.000 3.200 5. 200 oo 4. 200
Y 2.000 2. 000 3. 200 5. 200 ’ 4. 200
b -2 1B Y | b - 0. 750 0. 750 2. 000 2. 750 1. 60 1.150
b -3 1B Y | b - 0. 750 0. 750 1. 250 2. 000 1. 60 0. 400
b - 4 1P A Y | b - 1. 250 1. 250 0. 750 2.000 1. 60 0. 400
b -6 1B Y | b - 0. 750 0. 750 2. 000 2. 750 1. 60 1.150
X — 0. 000 2.000 2.000 010 1. 600
. \ Y — 0. 000 2.000 2.000 ' 1. 600
b -7 1-2F i@ LA
X 2.000 2.000 3.200 5. 200 4. 200
1.00
Y 2. 000 2.000 3. 200 5. 200 4. 200
L =0.40 (HHFE) F7-1% 0.60(FDfh) ... Pl

1.00(HHFE) F721% 1.60(ZDfh) ... kiC 1B
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HETORE

S5 af
B (552 Nf# HE HE HIE
et Gl N NG

oOF | v - %2 1.600 | 25 | HDC 1.890 1.890 | OK
2/) | HDC 1.890 1.890 | OK
WwW-4 @ o0.150 | 2% |cp 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
Ww-8 @ 0.150 | 25 | cp 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
W= 9 1.600 | 2 —
1-2F i 2/) | HDC 1.890 1.890 | OK
% -x2 @ 0.150 | 25 | CP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
% -9 |@ o0.150 | 25 | P 0. 960 0.960 | OK
2/ @ . 1.920 | OK

cp 0. 960
¥ - 4 |@ 0.650 | 25 | cP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
-9 @ 0.150 | 25 | cp 0. 960 0.960 | OK
2/ @ . 1.920 | OK

cp 0. 960
-3 @ 0.150 | 25 | cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
T -4 @ 0.650 | 25 | P 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
T -7 @ 0.650 | 25 | cp 0. 960 0.960 | OK
2k | cp 0. 960 0.960 | OK
-8 @ 0.150 | 28 | cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
F -9 1.600 | 25 —
1-2F i 2/) | HDC 1.890 1.890 | OK
~-1 |@ o0.650 | 25k |cp 0. 960 0.960 | OK
2/ @ . 1.920 | OK

cp 0. 960
~-3 |@ o0.150 | 25 | P 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
~-4 |@ o0.650 | 25 | cp 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
~-5 |@ o0.150 | 25 | cp 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
~-7 |@ o0.150 | 25k | cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
& -1 |@ o0.150 | 25 | cp 0. 960 0.960 | OK
2/ . 0. 960 1.920 | OK

cp 0. 960
-4 @ 0.150 | 26 | cP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
x5 - 7 |@ 0.650 | 25k | cP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
¥ - 4 |@ 0.650 | 25 | CP 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK
¥ - 7 @ o0.150 | 25 | CP 0. 960 0.960 | OK
21 | cp 0. 960 0.960 | OK




EE &k
i sy N R R E

et B0 N N
2F 5 -1 |@ o0.150 | 25 | P 0. 960 0.960 | OK
2/ x 0. 950 1.920 | OK

P 0. 960

5 -3 |@ 0.650 | 25 | cP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
5 -4 |@ o0.150 | 25 | cP 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
-7 @ 0.150 | 25 | cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
b-1 .600 | 25 —
1-2F i 2/ | HDC 1.890 1.890 | OK
b-2 |@ 0150 | 25 | cp 0. 960 0.960 | OK
2/ | cp 0. 960 0.960 | OK
Hb-3 @ 015 | 2% |cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
b-4 @ 0.650 | 25 | cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
b-6 |@ 0150 | 25 |cp 0. 960 0.960 | OK
2/ | cP 0. 960 0.960 | OK
b -7 600 | 2K —
1-2F i 2/ | HDC 1.890 1.890 | OK
1F| w-1 |@ 280 | £ |HD15 2. 830 2.830 | OK
20K | 2-F-15KN 2.830 2.830 | OK
Ww- 2 @ 3.400 | UE | HD20 3. 780 3.780 | OK
26 | 3~F—20KN 3. 780 3.780 | OK
Ww-3  |® 1.150 | 15 | HOC 1.890 1.890 | OK
2 | HDC 1.890 1.890 | OK
Ww- 4  |@ 0.400 | 1E | cP 0. 960 0.960 | OK
20K | cP 0. 960 0.960 | OK
W=7 |® 1.150 | 15 | HDC 1.890 1.890 | OK
21 | HDC 1.890 1.890 | OK
Ww-9 @ 4.200 | 1£ |HD25 4.720 4.720 | OK
1-2F i 25K -
5-9 |® 0.000 | UK 0.000 | OK
25K 0. 000 OK
i - 3 |@ 0.400 | 15 | CP 0. 960 0.960 | OK
20K | cp 0. 960 0.960 | OK
it - 4 @ 0.400 | 1E | CP 0. 960 0.960 | OK
20K | cp 0. 960 0.960 | OK
-4 @ 0.000 | 1B 0.000 | OK
25K 0. 000 OK
-9 |® 1.150 | 15 | HOC 1.890 1.890 | OK
25 | HDC 1.890 1.890 | OK
T -7 /@ 1.650 | 15 | HIC 1.890 1.890 | OK
2 | HDC 1.890 1.890 | OK
-9 @ 4.200 | UK | HD25 4.720 4.720 | OK
1-2F i@ 2K —
~-1 |@ 1.650 | 1/£ | HDC 1.890 1.890 | OK
2K | HDC 1.890 1.890 | OK
~- 3 .900 | 1J£ | CP 0. 960 0.960 | OK
20K | cP 0. 960 0.960 | OK
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1P| ~-7 |@ 1.150 | 1k | HDC 1.890 1.890 | OK
25R | HDC 1.890 1.890 | OK
-1 |® 1.150 | 1R | HdC 1.890 1.890 | OK
25 | HDC 1. 890 1.890 | OK
b -3 @ 0.400 | Uk |cp 0. 960 0.960 | OK
25 | CP 0. 960 0.960 | OK
-3 | 0.000 | 1 0.000 | OK
2R 0.000 | OK
D -7 |@ 1.650 | 15 | HDC 1.890 1.890 | OK
25R | HDC 1.890 1.890 | OK
-3 |@ 0.400 | 1R | cp 0. 960 0.960 | OK
25 | CP 0. 960 0.960 | OK
-4 |@ 0.400 | UK |cP 0. 960 0.960 | OK
26 | CP 0. 960 0.960 | OK
-6 @ 0.400 | UK |cCP 0. 960 0.960 | OK
20 | cP 0. 960 0.960 | OK
-7 @ 1.150 | 1K | HDC 1.890 1.890 | OK
25F | HDC 1.890 1.890 | OK
-1 |[@® 1.150 | 1R | HdC 1.890 1.890 | OK
25K | HDC 1.890 1.890 | OK
% -3 |@ 0400 | UK |cp 0. 960 0.960 | OK
25 | CP 0. 960 0.960 | OK
% -4 |@ 0400 | UK |cp 0. 960 0.960 | OK
25 | CP 0. 960 0.960 | OK
% -7 |® 1.150 | 1R | HdC 1.890 1.890 | OK
25F | HDC 1.890 1.890 | OK
-1 |@ 4200 | UL | HD25 4.720 4.720 | OK
1-2F i@ 2R —
b-2 |@® 1.150 | UK | HdC 1.890 1.890 | OK
25 | HDC 1.890 1.890 | OK
b-3 |@ o0.400 | UE |cp 0. 960 0.960 | OK
26 | CP 0. 960 0.960 | OK
-4 @ 0.400 | UE |cp 0. 960 0.960 | OK
25 | CP 0. 960 0.960 | OK
-6 |@® 1.150 | 1K | HC 1.890 1.890 | OK
25R | HDC 1.890 1.890 | OK
b-7 |@ 4.200 | UE | HD25 4.720 4.720 | OK
1-2F i@ 25k —




